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GUJARAT SECONDARY & HIGHER SECONDARY EDUCATION BAORD, GANDHINAGAR
UNIT TEST-5

Std. : 12 (General Stream) Total Marks : 25
Sub. : Economics 022(E) Time : 1 Hour

Instructions :
I.  There are 15 questions in this unit test.
II. Students have to write the answer of this unit test in their note-book.

SECTION : A
Questions from 1 to 5 are multiple choice questions. Select the correct  [05]
answer from the options. (Each question carries 01 marks.)
(1)  Who has the authority to issue one rupee currency note in India ?

(A) State Bank of India (B) Reserve Bank of India
(C) Bank of Baroda (D) Finance Ministry of India
(2) How many major types of deposits exist in Commercial banks in India ?
(A) 6 (B)2 (©3 (D) 10
(3) Whatis a central bank ?
(A) A Cooperative Bank (B) An apex bank
(C) A private bank (D) A foreign bank
(4)  Which state has the lowest poverty in the year 2013 in India ?
(A) Gujarat (B) Rajasthan (C) Goa (D) Bihar

(5) How many minimum daily calories per person per day is decided by Indian
Council of Medical Research in Urban areas ?
(A) 2400 (B) 2300 (C) 2200 (D) 2100

SECTION : B

Answer the following questions from 6 to 10 in one sentence each. [05]

(Each question carries 1 marks))

(6) Give the name of first bank established in the world.

(7)  What is the full form of NEFT ?

(8) What is meant by quantitative tools of monetary policy ?

(9)  Which kind of expenditure in included by Tendulkar Committee for poverty
line ?



(10) Give the meaning of Absolute poor.
SECTION : C
Answer the following questions 11 to 12 in short. [04]
(Each question carries 2 marks.)
(11) Write only names of the qualitative measures of credit control function of
RBI.
(12) Give the meaning of Relative poverty with example.
SECTION : D
Answer the following questions from 13 to 14 in brief. [06]
(Each question carries 3 marks.)
(13) State the difference between a commercial bank and central bank.
OR
(13) Explain the monetary functions of Reserve bank. (Any three)
(14) Explain Social reasons of Poverty.
SECTION : E
Answer the following questions from 15 in brief. [05]
(15) Explain the economic causes of poverty.
OR
(15) Discuss the measures to reduce poverty in India.



